ASIA
I . 17th Floor, Lu Plaza
5810 Van Allen Way Astec House, Waterfront Business Park 2 Wing Yip Street

Merry Hill, Dudley
Carlsbad, CA 92008 West Midlands, DY5 11X, UK Kwun Tong, Kowloon

Telephone: 44 (1384)842-211 Hong Kong SAR

Telephone: 760-930-4600

Facsimile: 760-930-0698 ale Telephone: 852-2176-3333
I ( I f l | I f Facsimile: 44 (1384) 843- P
N O R acsimile: 44 (1384 $43355 Facsimile: 852-2176-3888

Installation Notes
LPX 40 and LPX 60 * Cover Enclosure Kit ASTEC
LPX40 will fit both the LPX4X and LPX2X power supplies.

91 — 79 INPUT WIRING ACCESS
oUTPUT (23.0) I— ‘l (20.0)
WIRING ;
ACCESS
1.18
OUTPUT TERMINALS (30.0) §
1.70

3.86
2.42 .71 (98.0)
(61-‘5) (18.0) I

(43.0)
INPUT TERMINALS f
INSULATOR SHEET (13%)
i LPX25/40 = 1.50 %38.0)
LPX60" = 1.97 (50.0)
1
M3 INSERTS / 33 I_ o
29 (110.0) (20.0)
.35
(9.0) (1'45.8) 4.80 36
i (122.0) M~ &
STANDOFF = \
0 f A Rl 4 mm DIA MTG HOLES
3.15 2.76 (2x)
®e0 700 \-KM:& INSERTS
A yn
g .25 ——I % @ (4X) MARKED "A
(6.4) \/
EARTH STUD 14 DIA — 3.54 — 1.09
(3.6 DIA) '(Zéssoc')fA) (90.0) (27.7)
KEYWAY DETAIL —(hii)STANDOFF FOR MTG POWER SUPPLY

(2x)

NOTES
1. Alldimensions in inches (mm).
2. Overall dimensions:

MATERIALS

1 Base

) LPX 25/40: 5.9(150)x3.86(98)x 1.5 (38)
1 Cover (top and sides perforated) LPX60:  5.9(150)x 3.86 (98) x 1.97 (50)
6 M3 x 6mm screws with captive lock washer .

3. Base plate has three sets of customer mountings:
1 M4nut - : .
a. Bottom mounting (4x) M3 inserts, max. screw penetration 3mm;
1 M4 star washer For earth stud . .
. b. Bottom mounting (2x) 4mm clear holes plus 2 keyways (see keyway detail);
1 M4 spring washer : ) ) ;
i c. Side mountings (2x) M3 inserts, max. screw penetration 6mm.

1 Plastic insulator sheet

4. Ensure insulator is correctly fitted in base under PCB to maintain safety creepage and
clearance distances.

5. Ensure base is firmly connected to supply earth via the earth stud marked @

6. When using this enclosure, ensure that relevant safety standards (e.g., EN60950) are
complied with, in respect to creepage and clearance distances, and distances through
insulation.

130 America’s (USA): 1-888-41-ASTEC Europe (UK): 44 (1384) 842-211 Asia (HK): 852-2437-9662 ASTEC



NOTES:~
\. MATERWL : 0.8 £0.07ewn THX. ELECTROGAVANIZED STEEL

ASTEC Raw waAT'L P/K. 380-00100120°
2 mmummwcmmmmcmm

STO MO.: ASP2. {TVPE 8 FOR OUTER. SURFACE- & TYPE C FOR INNER SURFACE).

3. PART MUST BE FREE FROM BAMRRS, SHARP EDGES, GREASE AND DWIT.

4. AVOID SAARP CORNERS AND NAVE RADRIS Tmm (APPROX.).

S. ALL INSIOE BEND RADE SHOULD BE 0.Smm. UNLESS OMERWSL SPECIRED.
6. PART SHOULD BE FLAT AND SQUARE AFIER FORMING UNLESS OTHERWISE

SPECFIED.

7. UST AVE DIGTS OF ASTEC PRT NO. AND VENDOR CODE SHOULD BE
STAMPED N 3mm HGH CHARACTERS WITHIN THIS AREA

8. A ML OF 5 FIRST PECES 'OFF-TOOL" SAMPLES MUST BE SUPPLEED. TO
ASTEC COMPONENT ENGG DEPT WITH THE VENDOR'S OUALITY INSPECTION

REPORT FOR EVALUATION AND DESIGN APPROVAL BEFORE PRODUCHON DELMERY.

9. AL FURTHER DELVERES MUST BE ACCOMPANIED BY THE QUALAY NSPECTION
REPORT.

10. ON PRE-COATED MATERW. (ELECTROGALVANIZED STEEL) BENDING MARKS waLl
BE ACCEPTABLE F PASS A 48 HOURS SALT-SPRAY TEST UNDER ASTM-BI117.

11. THE STANDOFF SHOULD B ASSEMBLED AFTER FORMING AND CONFORM 10
ASTEC STANDARD P/N. 383-00000000.

12. ALL THREADED HOLES MUST BE APPUED ANTI-CORROSION COATING' PROTECTING
RUSTNESS CORROSION PROR 1O SHIPMENT.

13. TAPPED HOLES SHALL WITHSTAND A TIGHTENING TORQUE OF 15 N-18.

w35 X 8 1en (1)
SELF QMO SO
N 1y

o

5

140

148.2
115,82 b—
1 . ‘l
- j
o :
|
i :
=1 -
115.8(21)
A]
00 < 626200%0C0C0CaCo%:
080009099002 0000090909008
269090209530802090305020908090203
0“6 00 6"0%6 % %% 0% “0%% o
1
SECTION W-W
1148 TP

4l
Al Bl 2[
w1l 12
29 L'
302
o Y
4202,

FOR REFERENCE ONLY

¢ —
s e 33 600202020960
0 S = e
"l l:' N é{ \ 21 P00 8T OCOEOOL:G,‘ ':.;'_
%9 ¥ LL sa:mu.r
03 364 PUTH x 36
- 3%
o4 DR HOLE (24)
/ ,
“i e
- | -
|
500630000
| - e wom 7
o ] -0 o o
3 - 8| 3
|
!
!
» ] &
L
\m:sm'(n)l
oF
(PN 393-00201101)
"o
2t 64
32 6 [}
.‘_“— !:‘
P e
i ah
2 - L -’ L“
3 n3 3
] ..,'
MORS OMRUOE & TA0 W3S

SECTION W-W

. MOGeS ME N = L) Sy

PShwcry ANGELA TaN 120004 BASE
oot Bl X[ sy U O au1 w0
205 | wong woonc  ceoess | trsez sa>-srame ™




: 0.8 $007mm T, DLECTROGAVANCED STEEL

NOTES :

©

«
-
~

0aQ
%88
%0
%5

3

/- 30 TP

354 PACH X 38

O
6%,

1

& TVPE € FOR INNER SURFACE).
FAR SIDE.

B
I
93
5E ¢
i
§

SURRS, - SHARP EDGES, CREASE AND DIRT.
R tmen (APPROX.).

FSH REFER 10 ASTEC COSMETIC ACCEPIANCE
HAVE
8

380-00100120
FOR OUTER SURFACE
CHARMCTERS WITHIN THIS. AREA ON

(rvee
i
CORERS
RADK
st FUl
oF
HGH
B
PE
466
EVRLUATION

:
PR
L mmmm

ASTEC RAW WATL PN -

VATERAL

ei8s§2%ds

s N Mede o~

VANZED STEEL) BENDWNG WARKS
HOURS SALT-SPRAY TEST UNDER ASTM-B117.

(ELECTROGA
ACCEPUBLE, ¥ PASS A 48

AL FURTHER DELWERIS WUST BE ACCOMPANED BY THE QUALTY

SSPECTION REPORT.
10. ON PRE-COATED MATERWL

:

8E

9.

m .
7 § B
a b
| [ 3
Aty
00000
oocd- 1 3
il DL
m%u A

S
£
(]
=
5 =
] =
== =
—— R
00000 Mo
L P00 Ll M.z.“ S
00000 | =,
30600 ] AWlm..—,
qoeee
00000 n_
s >
ﬂl vy
e
. SIS ;
. _Irlo.&o%oonoomww.m
A i
() 24 L a.s—ol
(x2) ot
x
-
&
B g
r/\x:A )
1y w 38 58
-
Q WUO N
~ <6600 {a) O
mm M wooooc 3 BO0S
m X ...OM nm.n o# oy
.
" JOO O ) Xe
3 m\ ] o%n.numoooomomwnmw ¢ oo.nY _
- m I o
3 LU0V ..U
W O e (*) ”u
: i :
w,m::aoooomu pd X3
ﬁlr \ Yl'.— Q 3 0000 0000
3 cLLE S
W . J _lv Io ...JC .p»m-fc,.a Onnu
2 7 i ﬂ
I B ﬂw_ _ AN

e tiiad
oD
S w0 _

Pant N0

COVER -

an | warDwa

]
el
-t

TR Gz WCOD | DO NOY SCAUL DRAweC | WOLE

i

_.‘
<[
ol
SFCETION 77

RL3 TP
BENONG
RADUS

46

r} L2
nz_]_
SECTION Y-Y

g9
34

L

-

SECTION X-X

11}

3
157
N W-W

=




	LPx20_40cover.pdf
	lpx40-60.pdf

